i

2)

3)

4)

(5)

©)

(7

A% sl [As1

(A) Yotae 1l U 6. (B) dRueRa Ml AUEd 9.
(C) G2 ety M AUBc 8. (D) yelaldy vl A B 9.
ZPD 24 st s [Astuefl el eyl ...

(A) olles 185 yeL s1d 2adst dd 3 ar o,

(B) A 4oy Hee HOl dl d 1 U Uuejea Hadl as 9.

(C) d- o deell Mee 1A dl uel d st el d A=A 9.

(D) dtl =l (A st yel a6,

[BRAlBus stasiA 121 U5l 54 e @idy w9 ?

(A) dil AL AoiEd 3asell 2uA™a &,

(B) il stagt Aeifd el 21461 9,

(C) il 70 ol 121l of[g2iis A .

(D) LIl BB AR 53 8.

(g 2™l .. AL HLS SUSCAHAL GUALLL U 69,
(A) 1ast - &ld (B) culutel™
(C) ey -ala (D) 1AL+l &5l

AL d{l 2ozl yel [Baumi 10 km 62 204 & Rols d Uididl gHell el 5 km A1A 9 21 4l
2l 2ol gsiAdl dleogsl wel 53 9. dl i 22uAl-l gsi aonddl 56 Baui »udd
s ? |

(A)ud £E (B) Griz yd
(C) elae ulay (D) Gz Ulzx

A 519 36 S @il susi-ll udl dlen] 451205+ 33 Sa-ll %L'S 94 9. ol 48 Su-l susi-l uZl Hialdi
sedi Su-{l 19l 7

(A)44” | (B)42”

(C)45” : (D)46”

HiAd 21001 Sl Hd [Quids 21 nael © ?

(A) A6l (B) 22d

(QER (D) 5193
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(9)

(10)

(1)

(12)

(14)

N

B, sl wsiz-ll ARre WEl 48 © & 58l s34l 56 5L GualdL i 7

(A) 6if& sl (B) alZ sl

(C) vUf12u AL (D) o3 saldlal

Slefl AL OlLHLCH S ALl 3L ol1eL Lzl 28 Raryds 2 ueud) Zd sl sl e s ?
(A) Ry (B) gsad |

(& )-%'ﬂ - (D)2

waell urilgoloidiil oifaiis seel sl © ?

(A) 20 4l 2L (B)20 24

(C) 354l 49 (D) 50 &l 69

EHALAOL U SR SEsl gt Rravail [RHiad 518 53 edl?

(A) A s-tles (B) @32
(C) RA Mireudl - (D) 3el

‘sl SELAL Ve 8, dl aridl 2 d- 2aie @ alwela. - > [anH {1l Ul su
Rugid 29 53 7

(A) uxaedl sle- (B) iul dysl
(C) Hdll 2y (D) sttddl Astid

SOl SR

oS AL SANSLIML 7 RS GILA D i 1% T ©IHL SARHL A5 LA 69 . - 2t 8L alluianl
sy Y8AA ela 8 ?

(A) urrdlssL

(B) MlaBun -l s

(C) M5 uru-dl s

(D) B au=dlsaa

2% &l uatad el e R U4 56 Ba viqgan qadl 141 ?
(A) 816 st ada [RHL 3uidR 5.

(B) Asar-oigaant axonaal avildll Guaiay sadl.

(C) 2uetsll Risst amaac el Russteiami »uudl

(D) 34, A, nel-dl w2 Rl % 541
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(15)

(16)

(17)

(18)

(19)

(20)

o1 [ sttt el DA A4 56 s wedlou & 7

(A) stintlens [Ast - Ry | (B) olltlcHs [Asi - ¢rR

(C) =il s (s - oltsgat (D) u-l Qs s [Asi - $19s
Aeilsy wald, gerdluala, Aysd ugld - 20 uglall i Gualor darmi 2ud & ?
(A) 202l oposa cunt Bane wie

(B) sla2ds oo s, et [Bem e

(C) 2l (&t opn g aulBid [Brae w2

(D) e slm s aBid el 1

Al U6l 565 Grau sl inBs uBu A2l ?

(A)Heuist (B) AHuL 35¢

(C) adilsza 534 (D) (sl gsdz

Aaeiell sy Qe 21s [@ens 12 dioy 2] ?

(A) [l wavz 2 4ud o,

(B) d [Qenafli [Raw 6ictd & im Bladui w6,

(C) a Mlettl Al WRRALAME sl W sL2 v4ed 8.

(D) d % 514 52 &9 A M2 Bl oidld 9.

WAL (& sl [Qenall 08l el {13 U4 34) didl AR 2l ?
(A) exs [Qenell udl wmoua AvdlL.

(B) otloust 434 A4S A AU S sieilaal.

(C) slértctten uuadl olietdi=t sieariuizll £2 s3dl.

(D) uglnail e3uin mgm AlelazeL Glef seq.

wridall raei 1EP 2128 ¢ ?

(A) Independent Educational Planning

(B) Individual Education Plan

(C) Inclusive Education Plan

(D) Individual Educational Planning
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(21)

(22)

(23)

(24}

(25)

(26)

{27}

31 34 568 oot udall [ ABLR Raa- wies il ot Gl -l
(A) Q{‘-Lléli[l (Reva 23utcul (.L’s w6,

(B) d uules (Bt adeHl 3351R YR HIR Y3 D).

(C) WAL NS suNsl A el sl Ut 52 9.

(1)) A SHAUL B USIRAL BUASL AL % 6.

sy usiadl st corsl WRs 27 olifas st sau-l ulsd aldura a &7

(A)Azoid well (B) A2om
(C) 2.4l . (D) 316+ AL

Rets<il 54 @iz aolvisHi Ranellia ew siwudy 2 ARALdl 2wl ?
(A) e 1AL adl awal sedl.

(B) a@, 1M S YA audl.

(C) Brend -l st Brewadl.

(D) w2 et piv-uR [Reanell drudl edl.

a5 R Al sag, “d sl ol end il G adl ezl Gur Fedl sdl” o wiami
Rl G2 52 ¥ €1y dl yolll Gz seell elu ?

(A) 25 ay (B) 26 a4

(C) 35 ad ‘ (D) 36 ay

% aaa X aaa = abcba W, dla, b, © r{l (End seddl awu ?
(Ala=o,b=1,e52 . (Bya=1.b=2,¢=3
{Cya=1l.b=3,¢=2 (Dya=1,b=1lc¢c=2

2l dA Gl adl @Qsew sl 8 ?

(A) Hel + 2y = vdud : (B) dioL + iy = 02l
() B3y + Rt = (Bl (1) A + 4oL = QL

el uegi-l 58 As Widl®.?
(A) 5@l X OS5I ©(B) QR x sUgU

(C) ollls x Wil (D) Bl x 51U
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(28)  ‘sH¥] GURHL GUAL, (sl - ACEAHS HI2 S5 W6E 54D ?
(A) 232t (B) e[
(C) @B (D) Rt
(29) Al sAsell 5569 7
(A) 3 [{lwlal (B) Wb
(C) 48 | (1) {ygl
(30) & AU 2L Sl ddl [Aseu sdL e ?
(A) A5l A8 (B) 2UH
(C) %L HILY (D) 2AMRWLLA
(31)  2UNE ASAHL Yo AUsY 554D 7
(A) ARSI HEARAL HierL s9loued-] oisst A .
(B) ct4l 9 et 2l e9i ?
(C) =tAlet vz 2a02 AvyL [t 53 52 g o S
(D) ailtan i3 vior yyueel sul.
(32) il 208 vildl 24 qeuda $iu dg R 549 7
(A) e+t sul. (B) cll2 $3cli 21 GIAL 9.
(C) 2[Giden 2wl (D) dige sul.
(33)  Ya UL sHL B 7
(A) 4S5 : (B) adgs
(Cy [Rgs (D) (s
(34)  [QAREL BRI U4l A gl $id dd [@un s4 9 ?
(A) | crtls Hetd 531; 32 % HA sl Holl.
(B) %opril 9L 190 Sld 69, AR oAl e,
(C)vioRelR | i o aliofl o !

(1) SURE AUAA AR Yol Scll : AH, QEHRL, Bt VAL e
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(35)

(36)

37

(38)

(39)

(40)

(41)

42

-~

12l Fsell Slu ddl aoe sulL 69 ?

(A) ouR , (B) 94

(C) 21 | (D) Bln

‘Gl a5 ad’ 2o 1A A W2 GRA 3L sdl Al asiy ?
(A) U3 UEIR 2l-it (B) dRautAL dtR ol Glscll
(C) M - 3u (A2 53 (D) a89dl %4,

el Lot vldl Gur dlu ddl [Ased sl & 7

(A) 2l - M3, A& - Av{lA el

(B) 591 - L3R, SIA - UG, €la Wdd

(C) 2129 - F5al, sRUIR, w0t - srell dzdid sRUR

(D) 253U - LSS, 25U - 2Rl ol

‘il Wil stdsiey el el oater >l 959l - s P sul A &
Rd 9 ? '

(A) AR5l (B) AasIRs Guilw-
(C) dLlEs Bidn (D) A5

(A)Do (B) Does
(C)Did : (D) Was

Select the correct question.

(A) How many pictures did you get ? (B) How much pictures did you get ?
(C) How many pictures did you got ? (D) How many pictures you get ?
......................... the bus for Valsad .........cosrncistinns. 1

(A) Has, departed (B) Have, depart

(C) Has, depart (D) Have, departed

Select the word having similar meaning of abit : .......ococvivinnnen.
(A)bite (B) many

(C)alittle _ (D) small
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(43)  Find out the correct spelling.
(A) Inflluance (B) Influence
(C) Influince (D) Influanc

(44) “ALTCR find the word that conveys the same meaning as the word. (Synonym)

(A) Aller - (B) Change
(C) Allord (D) Chance
(45) There is a handkerchief et the table.
(A)in (B) over
(C)on . (D) with
(46) Il could gc.l B CHARIER, Lo wimmiiieninsin speak to the headmaster.
(A)would (B) will
(C) will be (D)woun't
(L) HHEIOTSE (. ......oisicvineirinss Ali brought last year is weak.
(A) which (B) whom
(C) that (D) who

(48)  Find out the correct spelling.
(A) Integral - (B) Intagral
(C) Intagrel (D) Integrl

(49)  I'was having a bath when the phone rang.

(A) Past Perfect Tense : (B) Simple Future Tense
(C) Simple Past Tense (D) Past Continuous lense

(50)  ~Weall love honesty’ in this scnlénce find out abstract noun.
(A) love ” (B) we

(C) honesty & love (D) none of'the above

SP 2 (A) : (9/24)



(51)

(52)

(54)

(55)

(56)

(57)

AU Ulcdlel Slate AY St YU 5369 7
(A) Guzrrguld (B) A3t
(C) ucil22 ettt Hua=uuyd (D) cllsueiinl 2152

A2 2 walnt R G 2152-2016 i saled B 3 s Reivwdl Hriadl 6 Al 14 4
UASIA 15l i 501 [Bael puud. i A 5§ saHHi S 7

(A)32 (B) 31

()33 (D) 34

a1 A5l ‘Biiowdl’ dioiedl eg W H?

(A) 2WOUHL CLLALSI ACUIY, S (B) GUOHcHER Mt MM cdeR H2lidl.
(C) 2uourL suasi-l 2uRien Asiell sl (D) Aot Wl 2Es A 2uudl.

52 2 oryhatet 3152-2009 S&0 6161l 24 Rt oLl UASIA 257 AV w9l uousiAi da
syl Aol . v Aol 260 ¥A Aoraat Hididl Reuell- aell 2 [[reiul 6L €in
dl Azl 2ias eeul ay 4 idl s ?

(A) 3L. 1,20,000/- (B) 3L. 2,40,000/-

(C) 3L. 1,50,000/- (D) 3L. 4.00,000/-

Ny Riael {URA-2020 oSl vieA 56 otlotd 0id 2sal-l [&m_&m 53697
(A) Md- (B) el

(C) YRetsaiar (D) dElse

Ala e AR-2020 A Rugidl 28 413 U5l 56 otoid Yridd el ?

(A) AL A5l [@asi (B) WS Guio-t AL

(C) t$ aud [QurR (D) 5281 ¥ Aslgeild

Al el AR-2020 12 WABLs AUl susl WBLs YACA AIHAL 2t vl
W 53 o dguis sui gl siua saud yar o 7

(A)2025 (B) 2026

(©) 2027 '  (D)2028
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(38)

(59

(60)

(61)

(62)

(63)

(64)

ECCEduIus gy ?

(A) Elementary Child Care Education

(B) Early Child Care Education

(C) Early Children Cause of Education

(D) Early Child Cause of Education ;
o Wand sty el % ulan w1l 60 oL, At 2R Feees siual uBun 568 sadl 5387
(A) [Raes ol 533 |
(B) [Rans wials Ras-l 5331

(C) Act AR A2kt 1A ctiellm wlRue-ll s34

(1) 200 yraulFusHl s34

o113t 2t Al 42l ARt eafadl v st A 2 B 7

(A) 15l IuL (B) gr-e vl

(C) 23sells 3 (1) uesdls Juit

SUSL HLAt AL AURS YA Y B ?

(A) Na,CO, (B) Na,CO;4

() NaHC()3 (D) CaCO,

cUlRa-ig o sy 2ad Rairt Ayeludl Al Godell e Rt o+l o & ?
(A)HgUS - (B)S‘Lé‘wtgz

(C) Hgueun (D) A~ A2et

MR Bhaui aed su auufalia Al ay ke A-uz wRat Bier s d /

(A) Lot iy (B) eldl aul

(C) 1@t 2t (D) Bl e

YA 56 AELA “3asul” 58 8 7

(A) sk | (B aRRadl

(Cy<tfer (D) ardl
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(65)

(66)

(67)

(68)

(69)

(70)

{410

(72)

S St 17 el cudiaReld % 53, e @art wuled 5Ll 2L AR dREL RULALAY
Asa 595 dlogett sHadi vudl ?

(A) gl (B) %9 UM, 8L UM

(C) AR UM (D) dleloux

oadli AL 5L 2igdeHl AR alaq wEal oot €9 7

(A)382 (B) 364

(C) 368 (D) 352

oAl 5Ll GLAEIA MEladl MIBL vLeREH TR 539 S ogrlote1d] YHel 5L U 9 7
(A)GCERT : (B) SSA

(C) Aol %A WAL WEAYRs s (D) uT™ wlaotid

22513 O et RendlPiR G2 o2adiysd sy (21819 MEL-t 5 54l W% 52 AHAML
AR B 7 '

(A) U, 2L . (B) st 5% (e aga
(C) UAET 3 AR (D) stiAg, 3 256U

RTE Act - 2009 No. 35/2009, cdtlvi 27-8-2009 L 541 S5t Aett-Flet 2t el genotetl
Mdld sl »uaa 9 ?

(A) 10 (B) 11

(C) 09 (D) 12

Qi sa QARre Rea Risid o ?

(A) oLt A AHA 539 (B) Gl [Rea-il Rusic

(C) USSR Y5l AUAlARRL (D) GuURiL ™

Heuls euast deal sy vig e ?

(A) Heoyfa HRUL . (B) Quril oy iis 80 &l 100 422 S 8.

(C) Al casalst viot »iledl Sl 8. (D) it @yl wl v il OLRLS

WHO gt 2t 2udell euvai Al s : ot Ms1R adls aedlsiRami »uedl 9 !
(A)dyel i (B) wiad: {4

(C)neu tle (D) GURL dHIM
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(73) 248 3l 2la dllvllan edlon ?
(A) 58 gl (B) w3211 g2l
(C) Udet i e LU (D) GuzrAL d™d
(74)  2AR5125 949] Uiy Alell 21t ues {A-nidl 54D ?
" (A)usl vyl TLM (B) 2dd Ruas-Rieuell Bu-uRa
(C) Vl-lu A1 ' ' (D) 555 Bidt
(75) RPWD 3152 2016 5432l A4 ML 20 ?
(A) 19-4-2017 (B) 28-12-2016
(C) 1-12-2016 (D) Gumizdl 15 et el
(76) AR A AlAAuiadl sy QA vig .
(A) L L5 AHIAR U AGPHA S . (B) & 318 GORAIRA 9.
(C) d 28 unecllonog Agrsiol . (D) ol 315 6L ALOSLRL L.

~

2 ~
(77) s v (x) il 5 euertiell 5 olte sl 40 MO, i [Eai ulse a3l 56 A avll s,

23X

(A) o=l (B)3x-10=80
B 40

G~~~ (D) 3x— 10 =40

(78) %L 6L HvAALAL AL AL B 36 S AL, 6 S L d Wbl s v 12 € L oflow v 565 el
(A) 18 (B) 12
(C)3 (D) 12
(79)  {lArtniell uogadivt 1L 2143 54l Bisier asy .
(A)3cm, 4cm,5cem _ (B)3em,3cm,2cm
()3 cm, 3em, 7 cm , (D)3 c¢m,4cm,6cm
(80)  wi[acuary Avyl dinadl uglt su oRidsuzell gt A »udl 9 ?
(A) 2ulEHBx (B) SRAM

(C) Y58 (D) WML
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-~ ] = ~ ~ ] - s Ea =~ Wit 3 :
(81) AUg 1> 55 (B 1= 35 UL 209 9, dl 2L oA 4 Seefl 35 2uucumi »udl
& 2

el ?

4 : 17

(A) 3 (B) ‘g
12 7

(C) o () ]E

(82) (= 12)+0=( 12) 3L yalsAvadl sdi o eufa o ?
(A) &ML i (B) Agiai-tl e
() U511 ARl 423 (1)) HRAOUAAL d2Radi-l Aeis

(83)  uaM 7yel vl il A,

fai (B)2
(©3 (D) 4
S oo RN
(84) JBaqElitls —x——— s
SO Tl L T S
o 3
(A) ]:i (B) 3
o | 1
() 5 . g =

(85) M5 WAL F5cl GU-{l drs (Aot Avdl 2ud d-l Aeta-u oel iy ?

1 5
Ay = Bt
(A\) 6 (B) 0
4 1
e ) —
(C€) P (D) 3
(86)  oodsL Al e S| ERICIUES
(A) Bl e | (s (B) Bl od | sels
(C) %a - ¥l (1) 210
(87)  zsid Sdlu simued...........
(A) 514 35 U2d Y5 S 5 (B) SIM 5 gl A

(C) S1Eeg g S1M3w U2d AR €ld (D) dULeril SLHE AL HAAL SN
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(83)

(89)

(90)

(91)

(92)

(93)

(94)

[ e o] 2Ule QUi e Yoy [Aseu yRie 53,

[Q-1 = sl Mot - SufdReitz YR R [Qeuug iR U viHz Av 9.
[4-2 : s Al Moot - 2t ur R [asuug Suldadiz U suHR AW 8.
(A)ﬁ—l -3, [a-2 v (B) [a-1 203, [@-2 -y

(C) -1 v, [@-2 v (D) (-1 0, (-2 -3

%641 e 5L PR WML Azl UL Y 69

(A H,80, (B) HNO);

(C) HCI (D) H,S0,

12 208 A vEw U4 59l vuae velel-l su wiam -2l d el 9.

(A) iR (B) %R l:

U4y : UHY
(C) ®icdR l : (D) -'b{d"{l \)
HHY HHY, '

Yors=L 4ol Bu Alell ay Yotsea eleld S0 .. ...

(A) il dlvisel o5l ay AR 6. (B) 4oL51U o1 201 Yol % 1995 LU 6
(C) el eivigel ogst dledl =4l (D) Zotsld A AL ER ER 1N B

o [ SLSSISAS S, 219 ULl

(A) MgO (B) Mg(Ol 1),
(C) MgOl 1 (D) Mg, 011,
QA AR a2 suL M 08 Al Gl s ?
(A) HL% (B) usauuu
(C) HaAlls Dy wer
ea{de o0 U4 54l AoL WS 518, 2 69 ?

(A) S1ARL | (13) 215188

(C) eueiRsydllRH (D) 29013
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93)

(96)

o7

(98)

(99)

(100)-

s 23Ul ¥ uBUL gl gﬁdni RsRdau® auBuA g se 8 ? -

(A) S1did8L J (B) sl

(C) Y (D) slasu

gafrell 510 AdLAL ALl B2l sHHL s . dlsal-l sul sHu © ?

{A) R, Asd, @l | . (B) usd, Rad, c-ﬁagi

(C)di2a, [Rad, usd (D) dlew, usd, RR

Rzt - A 4l Garusll st 2ctivonueuel el sdl Wi Ay MR AdL Ag@ !
(A) 511U, sllsdl, uiy (B) 3ui, cloy, «u3all

(C) 2132i, sai, Hiwiell (D) 3, dloy, ;Lﬁai

Rgetas a2l SiS uelel uR s %33l dgd AUARe FHL sl uBuA g 58 87

(A) 6&5;&-{1&1 (B) sasgnadlo

©€) Ao . (D) a1

ezl S vl 2ugRL gt dlarll asua s ?

‘ (A) L ests3-AL (B) UL 89151l
(C) Y-l (D)4l
ortett Bavaiell 2ot 2 Al il s 2o 46 dl ?
(A) *URd (B) Al
(C) BUs , (D) oult

(101)

(102)

Which one is the nearest meaning of the word controversy?
(A) Dispute (B) Agreement
(C) Conclusion ' (D) Calamity

Which are productive skills in language teaching and learning ?

(A) Speaking and writing (B) Writing and narrating
(C) Reading and listening (D) none of the above
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(103) Reading a lesson, translating every word into the mother tongue and pointing out the grammatical
items introduced in lesson - which method is this ?

(A) Dircct . (B)Bilingual
(C) Communicative (D) Grammar Translation
(104) N L is a process that negotiates the meaning between the text and its reader.
' (A) Reading 5 (B) Speaking
(C) Listening (D) none of the above

(105) Which method is also called *look and say’ - method?
(A) The phonic methéd ' (B) The word method
(C) The sentence method - (D) The phrase method
(106) In which method the teacher presents examples to his learners?
(A) Deductive method (B) Inductive method
(C) Active method (D) None of the above

(107) AL 20l 56549 7

(A) SaULR (B) q211y2iL
(©) Bragl (D) it

(108) 26e519L $¥ Yoror 1AL [Aseu 54169 ?
(A) vi%L, w4, B[, HRudd
(B) a8, 54, S1Md, S
(C) =%, dudl, ua-t, 4é-d
(D) ['%aa[l, gllt, A48, AAY,
(109) “vicdwa’ Aot Aflane o ?
(A) ¥id + g (B) ¥id: + it
(C) it + dxa (D) »id2 + edxq
(110) ‘dgu -t 33 ae Y, &} 3 3ot w37 il il s3a w0t Hue L v gaw?
(A) ﬁ“n (B) 4Ll

(C)ell . (D) €™
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(111) st woel sRgiell viadl 1y [Asey wrie 5.
(A)!:L\+Q)-L+D_|<+"j{+2>l-;-9i+6+q+§\
(B)g+a¢+°(+ai\+u+2_§+-6+q+i+:b{
(C)gi+ayl+5_£+z_{\+2;{+q\+ S+d++
D) +o+G+Y+u+4+ S+ +3+2
(112) ‘U2 4[R2 %S gairt 530 Al w4 o’ - Alsui 3B wos B’ dau-dl sl sz ?
(A) RS s (B) Gl sl |
(C) Butaius As (D) geualds Al
(113)  “HRLAUSL sl Al DS 553 5§ ed.” - sy ndloada 2ot Lo 4l oo Qe ol 7
(A)HIRL (B) g
(C) 155 (D) 5§ -
(114) ‘R=ton’ yoe-dl [l a0t sui e ?
(A) Rt (B) leldet
(C) 569 (D) dlsg
(115) “am-uadl aallen 530 asdl.” - wiuet Frsuf sul vide dot sl & 7
(A) AR5 Guylo- (B) ctlEs Rid-

(C) wﬂmsm (D) 2[5

(116)  {laidl 53 3§ vilg -l ?

(A) FiaTa=1 - susl Aladid 4=t (B) e - 5194
() foss: vl (D)) TR - ol
(I1T) S HIRTSIRTR ottt s ferarrer T | :
(A) e (B) AP
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